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Maths

Today we we will
continue to practise
methods of addition!
This time we will be
crossing the tens
barrier.




Fluency

Create bar models for
other combinations of

3 |@sthbalc k U coins or nofes.

1 Complete the bar model.

+ 36 = 100

51+ 9=

The Base |0 shows the number 34
Complete the sentence.

3Hhas ___ tensand ___ ones.




Vocabulary

Tens and Ones
A 2-digit number has tens and ones
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Crossing 10

17 S5 -« 22

Going past a multiple of 10 when you are adding or subtractng

Calculation
Working out the answer to o maths problem

4+5-«9
0W-5=5
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20-4«186

El Subtraction

Exchange

I can exchange 10 ones for 1 ten.

matenhecrnoskom <ok

Changing one thing for another but keeping the same value.

T R v
Partition
To split) separate) divide numbers into smaller parts
This can make calodations easier

(2> 5

o> > 5

You can also partition smaller numbers

3
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Efficient
Working in @ woy without wasting time
18+46=

An efficient way of adding would be to count on from 18
instead of starting from 0

.-

Column / vertical method

14 52 5

123 441




Recap: Crossing tens on a number line

We start with the largest number
in our addifion, which we place We can add 2 2 digit numbers
at the start of our number line. on a number line.

Next partition the smaller
number intfo tens and ones. Then
jump on along the number line
by the ones. You will need to
make more than one jump if
your ones add up to more than
ten. Your first jump should take
you to the next number ending
in O then add on the remaining
ones. Finally add on the tens.
The number you stop atis the
total.




Recap: Important Information

It is important to remember that:

10 ones are the same as 1 ten.




Recap: Expanded Column Method

We can use the expanded column method
when our ones add up to more than 10.

70+ 11 =8l

éones+5ones= 11 ones
4tens +3tens =7 tens (70}
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In this method we find
the total ones and the
total tens which we then
add together.




Your Turn

25+ 37 =
19 +42 =

Show these calculations using
the expanded column method.
Look at my example to help
you.




Recap: Column method with exchange
28 + 13 =
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| |
I 7 T T +_1_3

Use a pictorial representation to
help you solve this calculation.




Recap: Column method with exchange
28 + 13 =
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Add up the ones. There are 11
altogether. That's more than 10
so we need to swap 10 ones for
1 ten.




Recap: Column method with exchange
28 + 13 =

T
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We move the ten we have exchanged for the ones into the tens column. In
our written calculation we show the exchanged ten below the tens column.

O




Recap: Column method with exchange
28 + 13 =

T

I 9 DD +_1_3
- ]

Now add up the tens.

O

8

Don’'t forget this ten! 3
tens + 1 ten = 4 ten:s.




We call this
method the
standard written
method and it’s
the method your
grown ups will
know best.




Your Turn
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Your Turn
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Look out for calculations where the ones
add up to 10. Remember you can have
0 ones!



1)

2)

3)

4)

5)

36
+ 25

47
+23

34
+17

18
+ 35

6)

7)

8)

9)

10)

27
+38

52
+29

36
+25

19
+37

Extra Practice

11)

12)

13)

66
+ 24

58
+ 26

43
+ 19

16) 37
+ 28

17) 36
+ 46

18) 28
+59

19) 32
+ 48

200 66
+ 27

Use these
equations if
you would
like more
practice.




Deepen the moment

Fatima and Ben are solving this calculation:

56 + 39

Work out the answer and explain your
method to a friend.

Can you
solve these
I counted on from 56, bl
counting on first in tens pro ems
and then in ones. usSiNng what
you know
- A
I added all the tens together e bOUT
and all the ones together. addition and
Then, I put the tens and ones Compgring
L back together. ) numbers?

Which do you think is the best method? Why?

Do you think you could have improved the method
that you used to work out the question? How?




Going Deeper

Write a number to complete each statement.

35 +39>

56 + 27 =

64 + 28 <

19 + 23 >

45 + 46 =

76 + 15 <

)

Can you
solve these
problems
using what
you know
about
addition and
comparing
numbers?



Reasoning

[ Always, Sometimes Never! J







Fluency Answers

Flashbale k U

)

2)

3)

4)

Complete the bar model.
£80

64| + 36 = 100

o+ 9=|60

Complete the sentence.

34has _3_ tens and _4_ ones.

The Base |10 shows the number 34 EEE (all u]




Column Method Answers: Crossing tens
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Extra Practice Answers

1 1 1 1

1) 36 6) 27 11) 66 16) 37
+ 25 +38 + 24 + 28
61 65 90 65

1 1 1 1
2) 47 7) 52 12) 58 17) 36
+23 +29 + 26 + 46
70 81 84 82

1 1 1 1
3) 68 8) 58 13) 43 18) 28
+ 4 + 7 + 19 +59
72 65 62 87

1 1 1 1
4) 34 9) 36 14) 27 19) 32
+17 +25 + 8 + 48
51 61 35 80

1 1 1 1
5) 18 10) 19 15) 49 200 66
+ 35 +37 + 23 +27
53 56 72 93



Deepen the moment/ Going Deeper
ANnswers

Ben's method is the most efficient to wse shen colewlating mentolly.

Fatima's method has lots of steps and it swld be easy for her to make o mistake if she triedte ds this mentally. @
$6+ 30 508

35 ¢ 39 > any nember less than 74 @
56+ 27 ~-83 —
64 + 28 < any rember gmater than 92

19 + 23 > any mvmber less than 42

45 + 46 =91
76 + 15 < any member gmater than 9




Reasoning Answers

[ Always, Sometimes Never! }

\
| am thinking of a two-digit
number. If | add ones to it, |

will only need to change the
ones digit.

4

Sometimes, because if your ones total
10 or more you will have to exchange
them which will change the tens digit.



I'm so impressed with
your work Year 2.
You are superstars.




